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General Instructions :
() The question paper comprises two sections, A and lB. You are

§F J77-95 &1 g1 4T, WAT-37 3K qrr-a 7 a7 7 8 ) s
g1 9T 3 J91 & I fora &

to attempt both the sections.

(i)  All questions are compulsory.

31/1/1
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(iti)  There is no choice in any of the questions.

(iv)  All questions of Section-A and all questions of Section-B are
to be attempted separately.

(v)  Question numbers 1 to 3 in Section-A are one mark questions.

These are to be answered in one word or in one sentence.

(vi) Question numbers 4 to 6 in Section-A are two marks

questions. These are to be answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section-A are three marks

questions. These are to be answered in about 50 words each. .

(viii) Question numbers 19 to 24 in Section-A are five marks

questions. These are to be answered. in about 70 words each.

(ix) Question numbers 25 to 33 in Section-B are multiple choice
questions based on practical skills. Each question is a one
mark question. You are to select one most appropriate

response out of the four provided to you.

(x)  Question numbers 34 to 36 in Section B are two marks

questions based on practical skills. These are to be answered

in brief.
A

Section-A

1. 5w Aof % qEt wee 1 A i g ferfa e A T
C,H,, @l 1

Write the name and formula of the 2nd member of homologous

series having general formula C H,,, .

31/1/1 3 [P.T.O.
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List two functions performed by the testis in human beings.

3. Ul aYHEA A IS 1 1 w27 1

What is the function of ozone in the upper atmosphere ?

4. Waﬁﬁmmﬁaﬁwﬁrﬁw‘f%wﬁwwaﬁq\sﬁwl 2

List four characteristics of the images formed by plane mirrors.

5. Il “%a%%waﬁrﬁﬁmxw”azﬁmw%?@amﬁ
A SHTST S8 1S Sl 9 ud a=rsfiad 3 Yeree 8 warE Ser o
gehd1 2| 2

Why are forests considered “biodiversity hot spots”? List two
ways in which an individual can contribute effectively to the

management of forests and wildlife.

6. HUIMNG Werem' & o areqd }7 QAT Sl qoT B QS9N 941
I W ST 27 | 2

What is meant by “sustainable management”? Why is reuse

considered better than recycling ?

31/1/1 4
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7. ﬁaﬁsﬁmmaﬁm%aﬁmaﬁm%fmm
T T SeiE O T, TS sl i s kT
wwﬁq&mﬁaﬁm%sﬁﬁ%mﬁﬁ%ﬁm@wﬁaﬁ?w

Searg +ft i 3
With the help of an example, explain the process of hydrogenation.
Mention the essential conditions for the reaction and state the

change in physical property with the formation of the product.

8. TETE g & T qUT ST U & T SR EA 87 G
=70 TS S 1 fipe i e il 3
What is the difference between the molecules of soaps and

detergents, chemically ? Explain the cleansing action of soaps.

9. aa%ﬁsngﬁaamqmﬁﬁu@aﬂtmaﬁﬁmﬁrmlm
aﬁmma%asmwaﬁwﬁaguﬁ(wﬁ)ﬁwma%
T 3
(a) Torelt Trg H S F A STH W
(b) mmﬁw&maa@aﬂwﬁm'
How many groups and periods are there in the modern périodic

table 2 How do the atomic size and metallic character of elemqgts

vary as we move

(a) down a group and

(b) from left to right in a period

31/1/1 5 [P L
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10. = F® de@ feumu e 3

1 B6; oF; 10K 55Ca
8 ¥ (i) 98 dcd FHT o Sreray w1 § T soagH @, (i) §HE
THE % < acd AT T | K TF T X (2,8,7) % FART § & AT
Sf T g fofia

From the following elements :

4Be; oF; 19K oCa

(i) Select the element having one electron in the outermost shell.

(i1) two elements of the same group.

Write the formula of and mention the nature of the compound

formed by the union of ;,K and element X(2,8,7).

11. <t.w.u. gfeesfa = 87 36 qecd 1 e i 3

What is DNA copying ? State its importance.

12. Fae TEifRa = i TErdT & BTEg  gaper ohi AT hifs| 3
Explain budding in hydra with the help of labelled diagrams only.

13. HEEl g 3TN s 9 et T # feredl =) faftmn s gEl
TR | 3 Tafrdt w1 Sy ferelt aftem o waeen ok Tgfy A woe '
T forg TR yuTfad ear 8 7 3
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List any tour methods of contraceptions used by humans. How

does their use have a direct effect on the health and prosperity of a

family.

14 o o T S ¥ i e iR A 1 ST s
mﬁdﬂ@mqﬁwml”wmﬁﬁmaﬁﬂww
I | 3
“We cannot pass on to our progeny the experiences and

qualifications earned during our life time”. Justify the statement

giving reason and examples.

15. (i) @, fie, AR 3 Forh gt # 39 e €1 B T
ﬁma@wmﬁmw%@zmﬁawﬁﬁwm
£7 o7 s A g il
(ii) “gferi @ T whgdl & gl 21 =0 FF 1 T SR TS
e | 3
(i) Planaria, insects, octopus and vertebrates all have eyes. Can we

group eyes of these animals together to establish a common

evolutionary origin ? Justify your answer.

(ii) “Birds have evolved from reptiles”. State evidence to prove the

statement.

31/1/1 S [P.T.O.
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1o, xendl TR0 3TR@ Eiem & fore &\ & forot o1 3w wed 81 59 fertoni
1 $9 SR A § foh 2001 & e o ovema geht feemd e &
1 ST Tk | $6 W sh1 a1 ToRt0l T T STaae gUoT & T o geeT
3 TRttt < o <t fewm forflaw) 7 91 foRomt =T ST 10 cm wied
g0l % IEqd U ¥ 15 cm W q forelt forer & gl g oA
idfers =t wepta 3R feuf gra & & Fifsg 3

To construct a ray diagram we use two rays of light which are so
chosen that it is easy to determine their directions after reflection .
from the mirror. Choose these two rays and state the path of these
rays after reflection from a concave mirror. Use these two rays to
find the nature and position of the image of an object placed at a

distance of 15 cm from a concave mirror of focal length 10 cm.

17. rifoRd AR@ s TR & RS hifo {3 Tt 3T Tufed & omy
T T 1 el BT 27 3

With the help of a labelled diagram, explain why the sun appears

reddish at the sun-rise and the sun-set.

18. W&l o qvaTd TeheT 319+ firsi o w1 g % ureh | fUehfes W mm|
ol 3T WY WISH-Ari F e A Sfcrt srean fesat # e
ek o Y| WIS FHIH o TR=Td $6 061 3 59— WisH 3R e
1 AfTIT hT TR ileh Y STAT hl FTSHT FHTS T TehIT A I8 L &t
TET HA G ATl 36 s g3 Aed-amf IR wal o foashi @il
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s i IR 2R fesdl ¥ 7 i TS B FH H W FA: B

I AT FEEH! | STe o g e '

(a) 3T ToER A wifeesh 1 agedl i Stam rEl & foer i
qatero-fRadt fafy {7 w7 THY g0 A T IUF F A
ol

(b) TR 37K e 1 Tws T H gH foRE TR FTEH < Hehd &7 3

After the examinations Rakesh with his friends went on a picnic to
a nearby park. All friends carried cooked food packed in plastic
bags or plastic cans. After eating the food some friends collected
the leftover food and plastic bags etc and planned to dispose them
off by burning. Rakesh immediately checked them and suggested
to segregate the leftover food and peels of fruits from the plastic
materials and respectively dispose them off separately in the green

and red dustbins placed in the corner of the park.

(a) In your opinion, is burning plastic an eco-friendly method of
waste disposal? Why? State the advantage of method suggested
. by Rakesh.

(b) How can we contribute in maintaining the parks and roads neat

and clean ?

31/1/1 9 [P.T.O.
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@BEm%wﬁ%ﬁﬁamawm%
wﬁm%:%mm&aﬁmﬁaﬁﬁﬁmﬁﬁwﬁqaﬁ%a

20. mamawa’aﬁﬁtr%rﬁaﬁéaww:

21. Wﬁgm@%mﬁsﬁéﬁﬁé?ﬁﬁﬁ%ﬂ-w%ﬁﬁmw
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How many pairs of chromosomes are pres’en“zai%einslhla’\rllo %?nngo!r CJass. 6 1o 12
Out of these how many are sex chromosomes 9 How many types of

sex chromosomes are found in human beings?

«“The sex of a newborn child is a matter of chance and none of the

parents may be considered responsible for it”. Draw a flow chart

showing determination of sex of a newborn tO justify this

statement.

22. (a) w%m%m%@nlﬁtﬁmm%ﬁ@awaﬁmﬁ
mﬁﬁqﬁﬂﬁahﬁmﬁw%waw%ﬁﬁa‘aaﬁaﬁ
mm%@ql

(b) < el ‘A» 3iR ‘B’ % T STuEdIeh FHSl: 2.0 3 1.5 ¥R

e ‘B’ H TehTET ht =T 21%x108 m/s &, A

(a) State the laws of refraction of light. Explain the term absolute
refractive index of a medium and write an expression to relate it

with the speed of light in vacuum.

(b) The absolute refractive indices of two media ‘A’ and ‘B’ are 2.0
and 1.5 respectively. If the speed of light in medium ‘B’ is
2% 108 m/s, calculate the speed of light i
(i) vacuum, |
(i) medium .

31/1/1 11 [P.T.O.
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g~y 3eel faafiia ufafers oft o1 werar 17 39 @A &l gfE o fog

TeRTeT foRoT 3T Wiifere qem Tedeh TRl | o o | foes ot feafa

&1 I +ft FifsTu

4cmmﬂﬁéﬁ3100mﬁwaﬁa€mﬁﬂ@20 cmaﬁ‘ﬂ

ford R| < g3 o 3TN | O g 94 9Tl Midfer i ferfa faffa

EAIE 5

“A convex lens can form a magnified erect as well as magnified

inverted image of an object placed in front of it.” Draw ray diagram
to justify this statement stating the position of the object with

respect to the lens in each case.

An object of height 4 cm is placed at a distance of 20 cm from a
concave lens of focal length 10 cm. Use lens formula to determine

the position of the image formed.

24, HE B AT 4 m 0 W UG wmeE W @ el w6 ow
ardn| 7 o1 e gf-< @ difsd R e am fofew) @ 3 o wwies
1 fafer =t =mean i) 34 ¢
(i) 3rE-3I9 au
(i) 3G TENeH
! gEIi o forg foreor ot Efifem) 5
A student is unable to see clearly the words written on the
blackboard placed at a distance of approximately 4 m from him.
Name the defect of vision the boy is suffering from. Explain the
method of correcting this defect. Draw ray diagram for the : |
(1) defect of vision and also
(i1) for its correction.

31/1/1 12
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Section-B

25. @ém@wﬁﬁszwwéﬁﬂwﬁszﬁmﬁmm
faeren 21 sa% WA 9® W fsw W welvifa e Fw =
o foTe T a1 21 T 5 fie % vvend o7 Yeror e o e @ v
7 1
(A) T T qRes(i TeH faem
(B) T Torwe ureaslt errsit foer
(C) =IE 3EEY I qefl WS /2
(D) Uwifeeh 31wt i T o Sfet hY we

A student adds 2 mL of acetic acid to a test tube containing 2 mL
of distilled water. He then shakes the test tube well and leaves it to
settle for some time. After about 5 minutes he observes that in the

test tube there is :

(A) a clear transparent colourless solution
(B) "a clear transparent pink solution
(C) a precipitate settling at the bottom of the test tube

(D) alayer of water over the layer of acetic acid

31/1/1 13 [P.T.O.
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T - f | 1
(1) forerer 3 gamt o orer fevem e @) e

() Hifeam Bregfamrse ot vy g smar &

(D) Forrer & w7ar sftat e & e w0 ey wefer e 2

(IV) forerert & gamt w1 e feremra o et &1 e .
STH TE Jeqor §

(A) LRIV

(B) L IR III

(C) HIARIV Fae
(D) 13RI Fae

A student prepared 20% sodium hydroxide solution in a beaker to
study saponification reaction. Some observations related to this are

given below :
() Sodium hydroxide solution turns red litmus blue
(II) Sodium hydroxide readily dissolves in water

(ITT) The beaker containing solution appears cold when touched from

outside

(IV) The blue litmus paper turns red when dipped into the solution

31/1/1 14
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rudCuiou voservations are :
(A) L1land IV

(B) L, II and III

(C) onlyIII and IV

(D) onlyIand II

27, forell ST Bl o 3 for B Tt Suetey T 21 19w e Rw g
L
() wfem Fse
(1) @ifsam gothe
(III) HfcHm FaRIsS
(IV) Sfcasm aethe
(V) drfirm Fednse
(V) HHIMH getbe
A o 70 1 it % 36 Ty H g e v Tew ser i g
W ST S B3I ST 2
.(A) LI,V
(B) LIIL V
(C) IIL, 1V, VI
(D) II, IV, VI

31/11 e [P.T.O.
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rd water 1s not available for an experiment. Some salts are given

below :

(D) Sodium chloride
(I)  Sodium sulphate
(IIl) ~ Calcium chloride
(IV) Calcium sulphate
(V)  Potassium chloride

(VI) Magnesium sulphate .
Select from the following a group of these salts, each member of
which may be dissolved in water to make it hard.

(A LILV
(B), L.V
(C) 11, 1v, VI
(D) II, 1V, VI

28. el T4 3 3 3 ot 5 yon 5 Fafe st 9w v o 35 s oy

A 2 et gt e 1
O s
(I) wig
() Wt
1V) s
(V) <:ag
31/1/1 16
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: TR oI 9T © -

N

(A) L1, 111

(B) I, 1L, IV

(©) L 1v,v

(D) IL1V,V

A student indentified the various parts of an embryo of a gram seed
and listed them as given below :

(I) Testa ’
(II) Plumule

(IIT) Radicle

(IV) Cotyledon

(V) Tegman

Out of these the actual parts of the embryo are :

(A) LIL III

(B) IL, III, IV

(©) L Ng V

(D) I, 1V, V

29. WRBHET A, B, C 3R D & il % 9 R 7¢ wgeei 1 wosia e
T A P TR RY 1
(A) =HEe R foaaeh & 1@
(B) amna-s'aﬂwrogﬂ%tr@
(C) e AR faaefl & 9@
(D) T, s 3T f@uenett & 3nmure
31/1/1 17 [P.T.O.
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~dents A, B, C and D reported the following set of organs to

be homologous. Who is correct ?

(A) Wings of a bat and a butterfly
(B) Wings of a pigeon and a bat |
(C) Wings of a pigeon and a butterfly

(D) Forelimbs of cow, a duck and a lizard

30. ﬁ%mmmaﬁrawaﬁmaﬁx{{f%ﬁ‘X’és%wﬁuﬁsﬁm
ELRLE 1

12 cm >

(A) itk X Taaet U B e aghar 597 12 cm &
(E) gk X Seree qor 2 Foreht e g 6 cm 2
(C) IR X redet <o & Foreehl wihd 0 12 cm 2
(D) Ifth X Iare Tufor R Forerehl wieret ght 12 om @

31/1/1 18
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Study the following diagram and select the correct statement about

the device X’ :

(A) Device ‘X’ is a concave mirror of radius of curvature 12 cm
(B) Device ‘X’ is a concave mirror of focal length 6 cm
(C) Device ‘X’ is a concave mirror of focal length 12 cm

(D) Device ‘X’ is a convex mirror of focal length 12 cm

31. forelt B 3 feg o ST A g Rl gy e fag R
TS W ST R o R 5 T o Wi g I 0 F R 38 A
=R - | 1
(A) et o 3 Ty 3 ofter i g
(B) ol oi® 9 U< & oft i gl
(C) e forear 3 wftfors 3 sff i i
(D) i & forear <ht ot 3 wner—wmer ey com sifeforesy 3 offer < gt ot

31/1/1 19 [P.T.O.
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A student has obtained a point image of a distant object using the

given convex lens. To find the focal length of the lens he should

measure the distance between the :

(A) lens and the object only
(B) lens and the screen only
(C) object and the image only

(D) lens and the object and also between the object and the image

-

32. WM BE P, Q, R 3R S 7 &= % foret Wil § 40° o =hivr W Amaferd
BIeht Totel | T[S aTeft Wehret 3 fetor & A et Wi SR tuad -
o1 11q ol | 37k g ot Tt W shEE: 18°; 22°; 25° 3R 30° off | wEn
7 G T TN BH D ‘1
(A) P
B) Q
(€) R
D) S

Four students P, Q, R and S traced the path of a ray of light passing
.through a glass slab for an angle of incidence 40° and measured the
angle of refraction. The values as measured them were 18°; 22°
25° and 30° respectively. The student who has performed the

experiment methodically is
(A) P
(B) Q
©) R

(D) S
31/1/1 20
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S e 8 T ) ST s o e el 3 e o
BT 1, M@ # qurie .
A $3ER, WW(zl),maﬁqaﬁW(zr),ﬁﬁa

m(ze)wﬁamﬁmzm#mmlw%smﬁmﬁvﬁﬁw
3fera forar M R, TR AU E

(A) L3R 1

(B) L3R Le
(C) 4i, Le 3R 4D
(D) Zi, Zr 3R se

31/1/1
21
[P.T.O.
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After tracing the path of a ray of light through a glass prism a
student marked the angle of incidence (Zi), angle of refraction (£r)

angle of emergence (£e) and the angle of deviation (£D) as shown

in the diagram. The correctly marked angles are :

(A) ZLiand Lr
(B) Ziand ZLe
(C) 4i, Leand ZD
(D) Zi, Zrand ZLe

34, 37 @ Yewi N gEh oY RS oW 3@ §EE F 8, S T R
mﬁ&mﬁ%méwwﬁ@wmﬁmm@mﬁz
ey 3| 2 arelt srffra o et gt i) 2

List two observations which you make when you add a pinch of
sodium hydrogen carbonate to acetic acid in a test tube. Write

chemical equation for the reaction that occurs.

31/1/1 22
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35. 3113%4“%3::{@{@1653%%%@%@%%@@%%%
Waﬁ%aﬁimmwmmtﬁwé?ww
%W%qﬁaﬁ?aﬁnw%ﬁa@ﬁ%maﬁwmqﬁm%

oo A BCATR? 2
Name the type of asexual reproduction in which two individuals
are formed from a single parent and the parental identity is lost.

Draw the initial and the final stages of this type of reproduction.

State the event with which this reproduction starts.
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l'o tind the image-distance for varying object-distances in case of a
convex lens, a student obtains on a screen a sharp image of a bright
object placed very far from the lens. After that he gradually moves
the object towards the lens and each time focuses its image of the

screen.

(a) In which direction — towards or away from the lens, does he

move the screen to focus the object?

(b) What happens to the size of image — does it increase or v

decrease?

(c) What happen when he moves the object very close to the lens?
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